Triticum timopheevii
136,157 bp

Triticum timopheevii
136,124 bp

Triticum timopheevii
136,074 bp

Triticum monococcum
136,886 bp

Triticum macha
135,899 bp

Triticum aestivum
135,919 bp

Triticum aestivum
135,835 bp

Triticum aestivum
134,545 bp

Triticum turgidum
134,015 bp

Triticum sphaerococcum.
134,531 bp

Triticum aestivum
133,873 bp

Triticum zhukovskyi
136,028 bp

Triticum turgidum
135,889 bp

Triticum turgidum
135,948 bp

Triticum turgidum
135,835 bp

Triticum turgidum
135,835 bp

Triticum turgidum
135,865 bp

Triticum turgidum
135,926 bp

Triticum turgidum
135,836 bp

Triticum timopheevii
136,119 bp

Triticum urartu
136,865 bp
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